Final Exam Review (Unit 4-6) Name OM("\! ‘I‘(’:S ‘n\l_ KEY‘ \.

In 1-2, usel] A2 to find the value of x. Then, find the arc measures.

. c (3x + 26)° , A
| » Dk 34262180 ’ 5 k5= 2x 4™
Fx +26=130 (4x - 5Y 2X =730
B Tx =164 c ‘ x =24
=17 (2x + 65)°
Bc = ?2y99. U = 2 -
" L”'z " H4(25)-5 =\\25"

e = 3 .
mae 73&7%2&:(%2! e 72('55)%7:{\’56"1

Find the measure of the indicated arc or anglein (¢ O.

Find the value of each variable.




12. Find the area and arc length of the shaded region.

60 - s
Z"w mAL= Ba Mre j_(_’ 26 = 32942

90 By 760
270° - “-fE.TY 2
A 2 T TR et 9 2323

13. The area of one piece of pizza is 97 in’ . The pizza is cut into eighths. Find the radius of the pizza pie.

Ateq= v -8 = 72’!7’\/

(N & T =t
_ > ASTY S D FUT=TT 2 32=0" (- 7.9%
14. The clock in our classroom has a radius of 9 inches. If it’s 4:00, find the arc length and area of the sector for this

a

time. 3. M:__'\:(_Zwr =3 _\qu\'rq — WYy v = AL
3
@q eyt > L W4T (362 x sn

15. A triangular pyramid has equal side lengths of 2 feet. Its height is 3 feet. What is its volume?
= B B 0. =
() eyr= © _\Sn o _1',2 Ve

A T k= ?—1-__\1- B
‘@ ! W= L3 B-
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16. Weston has two round balloons. One balloon has a radius that is 3 times the radius of the

other balloon. How much more air will the larger balloon need than the smaller balloon?

\!.:%wr” ey &lgrrr" e

\J'L:"'-g LI _3_1‘\"°|r =/ 9 mMere o\
17. Find the volume of the image below. (hint it is made of a cylinder and a half sphere) _—
sufe
Vc.yl =‘TV‘901'?-§UT- 146 054\ @ Sofe | —
| +
L\ 3 300 feet Z;O-Pb

Vspn= 3TV 507 = 91959333 . 24,1949, 29
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UNIT 5

1) If a line segment needs to be partition by a 2:5 ratio,  2) Find the midpoint of the segment given the points

what is the fraction that would be used in the A(4,-3)and B(—11,8).
formula to find the point?
2 MY = (x.___.?-*x‘ Vet Yy
2 )
e

e
q- =¥t =% S
> 8———1‘2_ ) —{('-3.5- ; 2-’1‘ﬂ

Show/Explain how you know if the following lines are parallel, perpendicular or neither

3) y= -3x-10andy=2x+5 Hx—y=10and—2x+5y =6
y > X an \y 3% e Bo e Ao
?mﬂ(lw ar x:yi—(\:) ’_7_‘:2)({.(0
becsuvse 4wt Sloges TR
- o . ? %
re o t 3 PR
are offestte TieiProcal s g —
ol each dhﬂ “‘)C*Ml be cavse slpes are
5) Find Point Z that partitions the directed line segment  §) ABCD has vertices at A(—6, —6), B(—4, 1), C(1,1). ent
1 What point would D have to be for the figure to be a
XY byg from X, where X(—4,8) and Y(-10,-2). rectangle? Prove, mathematically, that thisis a
Graph. Dx= -l }_i - wd rectangle.
By=-10. 3 45 o] There S no
3 ! ;
foint becquse
; (4-2,3 -3.3 CABC i ot
RN EEW] ] v,
[ 245 8 10 (_[o 'L,_’,?_) jl’d’ ‘t"ﬂle
of : o a fcc{-c—\j[e
” 8f Can M{‘
1ol bf @rm

Also find the perimeter and are of the rectangle.

Perimeter = 2!1 ‘)— b Area = 56
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Use 3x% + 3yz — 36x 4 24y + 9 = 0 for questions 7-10.

3
7) Put into standard form, find center & radius in
simplest form.

Cylb
- - t3C yz:ﬁ&y Rt LA

-‘E':-(nt" z =q2-;\2
(2 (2

(X-©)°+{y#) =43

8) Center: ‘(91 _Ll ) 9) Radius: Ca‘;— (0

Find the perimeter and area (b - h) of the parallelogram
below.

||||||||||

o AR B

11) Perimeter: 5’5{0 12) Area: 5 5.

10) Now use a protractor to accurately graph.

2 B
13. Graphx“+ (y—3) "= 30 C_:(OI 7))

10

-4
-6

-10
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Unit 6
Use the following table to answer 14.

The table shows the number of endangered and threatened animal pecies in the United States as of November 30,
1998.

Mammals Birds Reptﬂes Amphibians Other
Endangered 59 75 / \_1_4_] \ 9 198
Threatened 8 15 \ 21 / 7 69
14. Find the probability that a listed animal is endangered given that it is a reptile. % o q
A. P(RIE)=7% B. P(ENR) = 4% C.P(E | R) = 67% | D.P(E|R) = ﬂ

Use the following table to answer 15 — 18.

On April 15, 1912, the Titanic struck an iceberg and rapidly sank with only 710 of her 2,204 passengers and crew
surviving. Data on survival of passengers are summarized in the table below. (Data source:

http:www .encyclopedia-titanica.org/titanic~statistics.html)

Survived Did not Survive Total
First class passengers 201 123 324
Second class passengers 118 166 284
Third class passengers 181 528 709
Total passengers 500 817 1317

15. If one of the passengers is randomly selected, what is the probability that he/she was in first class?

_201 123
A PEO)="- B. P(FO)=r— 32'—& . 2 L\ (a
C. P(O)=22% D. P(FC)=222 e
L 1317 709
16. If one of the passengers is randomly selected, what is the probability that this passenger survived?
500 201
‘ A. PO)=1m2 1317 B P(S)“soo 500 _
500 817 = B ’5__’_G‘
2 P(S)_sn L. P(S)ﬂum \ 3\ T

17. If one of the passengers is randomly selected, what is the probability that this passenger was in first class and

survived? 2 ' FC
S A. PECNY=22 ~ 0.620 B. PFCNS)=-or ~ 0.246 i 153
324 201 3'1‘
C P(FCﬂS)w— =~ 0.648 ‘ D. P(FCﬂS)‘“—““— =~ 0.153
18. What is the probability that a randomly selected passenger survived, given that the passenger was in first class?
A. PEC|S)=2= ~ 0.402 B. P(ECNS)=2 = 0.402 - S FC
20|
201 201 -
C. PSIFO)=2 ~ 0.402 lD PEIFO)=2; ~ 0.620 — L2
224 2 2(1
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Use the following to answer 19-20.

Given P(A) =.72,P(B) = .29,and P (A UB) = .8012.  20. Determine if A and B are independent events.

19. Find P(A N B). A. Yes, because P(A N B) = P(A) X P(B)
r A. 0.2088 | B. 0.5924 B. Yes,because P(A U B) = P(A) X P(B)
B. 04076 D. 0.3837

C. No, because P(A N B) # P(A) X P(B)

A +P(B) -YANE) = ?(AUB) D. No,because P(A U B) # P(A) X P(B) -
F2x V-7 = 3oz )R =T0E) 72212 i
2=2038 adope ndp\t = | 202R =202

21. In a bowl of m & m’s, there are 12 red ones, 6 green ones, and 15 blue ones.

a. If two m&m’s are chosen at random with replacement, what is the probability of picking a red m&m and

then, a blue m&m? Y \5 70
& = o
23 33 WM} 2 _)l@

b. If three m&m’s are chosen at random without replacement, what is the probability that they all three are

green ones?
3‘5 .Y :5\
22. A person rolls two dice, one after the other. Find the probability of the following events.
1 213 ]| 4 5| 6
a. P(sum of 7 or sum of 10) ) 2 l.l 5_ Z =
b -
+y2 =1 7725 ettt
3@, 3 e 4 b |2
b. P(odd sum or sum more than 5) ; j 45163 7|9
3 2 2 —\77 Sl le|HEF | v
%*’3@'{63@. 1 Sl (8|9 |Ie N
6 [ F & e tvn |12
23. Given the Venn Diagram below with set A
and set B determine the following: e =
a) P(A) = A’-}- b)P(AURB) = /‘?
=2 -
¢) P(AN B)= /l‘!} d) P(4U B)= \zf‘?_
e - G
e) P(AuB)=°l/n_ f) P(AN B)= /l'.}
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